mass (kg, as N)

3.5

3.0

N
ul

N
o

=
Ul

1.0

0.5

0.0

1e9

Call transform_halogen/nitrogen only

2 3 4 5 6

time (years)

NOy

NO

NO3
NO2
N205
HO2NO?2
HONO?2
HONO
PAN
PPAN
MeONO?2
ISON
MPAN
NALD
BrONO2
CIONO2
N




mass (Tg, as N)

0.007

0.006

0.005

0.004

0.003

0.002

0.001

0.000

+3.286

Call transform_halogen/nitrogen only

*—o

NOy

3 4
time (years)




mass (Tg, as N)

2.070

2.065

2.060

2.055

2.050

2.045

2.040

Call transform_halogen/nitrogen only

—e HONO2

time (years)




mass (Tg, as N)

0.110

0.109

0.108

0.107

0.106

Call transform_halogen/nitrogen only

N205

3 4
time (years)




0.0000040 +1.249e—|3CaII trzlansforml_halogerlmlnltrogeln only |
BrONO2

0.0000035 |

0.0000030 |

= 0.0000025 |

0.0000020 |

mass (Tg, as

0.0000015 |

0.0000010 |

0.0000005 |

time (years)

0.0000000



mass (Tg, as N)

0.09035

0.09030

0.09025

0.09020

0.09015

0.09010

0.09005

only

Call transform_halogen/nitrogen

»—e CIONOZ2

0

2 3 4
time (years)




Call transform_halogen/nitrogen only
0.02656 T T . T T T
o—e HO2NO2

0.02654 1
0.02652} 1

= 0.02650 -

0.02648 -

mass (Tg, as

0.02646 -

0.02644 -

0.02642 -

0'026400 1 2 3 4 5 6 7

time (years)



mass (Tg, as N)

Call transform_halogen/nitrogen only
0.000489 T . T T T
e—e HONO

0.000488

0.000487

0.000486

0.000485

0.000484 -

0.000483 i .

0 1 2 3 4 5 6 7
time (years)

0.000482



mass (Tg, as N)

0.01290

0.01285

0.01280

0.01275

0.01270

0.01265

0.01260

Call transform_halogen/nitrogen only

ISON

0

3 4
time (years)




mass (Tg, as N)

0.0243

0.0242

0.0241

0.0240

0.0239

0.0238

0.0237

Call transform_halogen/nitrogen only

MeONO?2

3 4
time (years)




mass (Tg, as N)

0.0283

0.0282

0.0281

0.0280

0.0279

0.0278

0.0277

0.0276

0.0275

Call transform_halogen/nitrogen only

MPAN

3 4
time (years)




mass (Tg, as N)

0.00514 . Call trzlsmsforml_haIogerl1/n|trogeln only |

NALD

0.00512 |

0.00510 .

0.00508 .

0.00506 .

0.00504 .

0.00502 .

time (years)

0.00500



Call transform_halogen/nitrogen only
0.00000116 T T = T T T

0.00000115

0.00000114

-~

Tg, as N)

0.00000113

~

0.00000112

0.00000111

0.000001100 1 > 3 4 S 6

time (years)



mass (Tg, as N)

0.485 . Call trzlansforml_halogerlmlnltrogeln only |

o—e NO2

0.4801 |

0.475} |

0.470 |

0.465 1 2 3 4 5 6 7

time (years)



mass (Tg, as N)

Call transform_halogen/nitrogen only

0.00375

0.00370

0.00365

0.00360

NO3

0

3 4
time (years)




mass (Tg, as N)

0.198

0.196

0.194

0.192

0.190

0.188

0.186

Call transform_halogen/nitrogen

only

NO

2 3 4
time (years)




mass (Tg, as N)

0.273

0.272

0.271

0.270

0.269

0.268

0.267

0.266

T .

Call transform_halogen/nitrogen only

e—e PAN

3 4
time (years)




mass (Tg, as N)

0.000951

0.000950

0.000949

0.000948

0.000947

0.000946

0.000945

0.000944

Call transform_halogen/nitrogen only

o—e PPAN

0

2 3 4 5 6
time (years)




